

Notice: Fill out COMPLETELY and return to Conservation Division at the address below within 60 days from plugging date.

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

1324764

Form CP-4
March 2009
Type or Print on this Form
Form must be Signed
All blanks must be Filled

WELL PLUGGING RECORD K.A.R. 82-3-117

OPERATOR: License #:				API No.	15						
				Spot De	escription:						
Address 1:				Sec Twp S. R East We							
Address 2:				Feet from North / South Line of Sec							
City:	State:	Zip:+		Feet from East / West Line of Sec							
Contact Person:				Footage	es Calculated from Neares	st Outside Section Corner:					
Phone: ()					NE NW	SE SW					
Type of Well: (Check one)	Oil Well Gas Well	OG D&A Cathodi	ic	County:							
Water Supply Well	Other:	SWD Permit #:		-		Well #:					
ENHR Permit #:	Gas Sto	orage Permit #:				vven π					
Is ACO-1 filed? Yes	No If not, is wel	I log attached? Yes	No			oved on:					
Producing Formation(s): List	All (If needed attach anothe	r sheet)				(KCC District Agent's					
Depth to	o Top: Botto	om: T.D									
Depth to	o Top: Botto	om: T.D			-						
Depth to	o Top: Botto	om:T.D		Plugging	g Completed						
Show depth and thickness of	all water, oil and gas form	ations.									
Oil, Gas or Wate	r Records		Casing R	ecord (Su	urface, Conductor & Produc	tion)					
Formation	Content	Casing	Size		Setting Depth	Pulled Out					
							-				
cement or other plugs were u	sed, state the character of	same depth placed from (bot	ttom), to (t	op) for ea	ach plug set.						
Address 1:			Address 2	<u> </u>							
City:				State: _		Zip:+					
Name of Party Responsible for	or Plugging Fees:										
State of	County, _			, SS.							
	-				·	0	a. "				
	(5.1.1)			. 📖 Е	Employee of Operator or	Operator on above-describe	a well,				

being first duly sworn on oath, says: That I have knowledge of the facts statements, and matters herein contained, and the log of the above-described well is as filed, and the same are true and correct, so help me God.

(Print Name)



DEC 0 1 2016

PAGE	CUST NO	YARD #	INVOICE DATE
1 of 1	1004542	1718	11/29/2016

92288204

INVOICE NUMBER

Pratt

(620) 672-1201

ACCOUNTS PAYABLE

B VESS OIL CORPORATION

1 1700 WATERFRONT PKWY BLDG 500

WICHITA

KS US

67206

o ATTN:

LEASE NAME J

Regier 1-8

LOCATION В

COUNTY

S

Ι

Thomas KS

STATE

JOB DESCRIPTION Cement-Casing Seat-Prod W

 \mathbf{T} E JOB CONTACT

JOB #	EQUIPMENT #	PURCHASE	ORDER NO.		TE	RMS	DUE DATE		
40983142	86779				Net -	30 days	12/29,	/2016	
			QTY	U of M	UNIT	PRICE	INVOICE	AMOUNT	
For Service Dates	: 11/17/2016 to 11	1/17/2016							
		27							
0040983142									
1710111100	ot Casian Cast Duad W	11/17/2016							
Cement PTA	nt-Casing Seat-Prod W	11/17/2016							
60/40 807		-	340.00	EΛ		6.24		2,121.60	
60/40 POZ Cement Gel			586.00			0.13		76.18	
Cotton Seed Hulls			600.00			0.39		234.00	
"Unit Mileage Chg (F			100.00			2.34		234.00 780.00	
Heavy Equipment Mi "Proppant & Bulk De		5	200.00 1,465.00			3.90 1.30		1,904.50	
Blending & Mixing Se			340.00			0.73		247.52	
Depth Charge; 0-500			1.00			520.00		520.00	
"Service Supervisor,	first 8 hrs on loc.		1.00	EA		91.00		91.00	
			ĺ						
		20							

PLEASE REMIT TO:

SEND OTHER CORRESPONDENCE TO:

PO BOX 841903

DALLAS, TX 75284-1903

BASIC ENERGY SERVICES, LP BASIC ENERGY SERVICES, LP 801 CHERRY ST, STE 2100 FORT WORTH, TX 76102

SUB TOTAL

TAX

6,208.80 465.66

INVOICE TOTAL

6,674.46



SERVICE

REPRESENTATIVE

FIELD SERVICE ORDER NO.

10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

FIELD SERVICE TICKET

1718 14149 A

	PRESSL	IRE PUI	MPING & WIR	ELINE			5 /	1	DATE	TICKET NO			_			
DATE OF JOB	2/1	6	DISTRICT				NEW C)LD □ F	PROD IN) MDM		USTOMER RDER NO.:				
CUSTOMER	255	0	1 6	orporas	tion		LEASE R	egic	/			WELL NO	0./-8	5		
ADDRESS							COUNTY Thomas STATE KS									
CITY STATE							SERVICE CREW Service Review									
AUTHORIZED BY Dylan Klaus							JOB TYPE: Plan to Abundan 241									
EQUIPMENT	#	HRS	EQU	IPMENT#	HRS	EQU	IPMENT#	HRS	TRUCK CAL	LED	DAT	E AM	TIME			
86779		1							ARRIVED A	TJOB ///	7/1	AM PM	2:30	5		
21010		1.15							START OPE	RATION ///	17/	AM /	1.50	5		
									FINISH OPE	RATION ///	7/1	AM PM	30			
									RELEASED	11/2	7/11	AM PM	00			
									MILES FROM	M STATION TO	WELL	-				
products, and/or sup become a part of th	oplies in	orized to cludes a	execute this o	contract as an a	gent of the cus	stomer. As earing on	before the job is of a such, the unders the front and back rvices LP.	igned agre of this do	ees and acknow cument. No addi	ledges that this co	terms	and/or conditi	ions sh	all		
ITEM/PRICE REF. NO.			MATERIAL,	EQUIPMENT	AND SERVI	CES USI	ED	UNIT	QUANTITY	UNIT PRIC	E	\$ AMO	JNT			
CP103	600	14	O PO	2				5/5	340 -			4080) 0	0		
cc700	CI	ne	n/ 6	701	7.7 .7			16	586 -			146	, 50	9		
2410	Cotton Seed Hulls						,	16	600 -			450) 00	_		
E100	49	11	Mules	ege (borge	Fic.	KUP	11	100	2	\vdash	45	0 6	8		
E 101	130	2111	1,00	upni	177 2	1/1/10	490	711	200		+	1500	7 56	3		
C E 200	45	2/1	4 72(1)	I K	2/IVER	/		4/100	1463			3667	6	0		
(E 2 ())	TRI	4.16	1.00	dim.	1-500	Servi	ce Che	SE	+41):		1000	100	2		
5005	130	111	18	Supril	1000	200	100	76	1	1		17	50	ō.		
									1				4			
													_			
		-						 					-	-		
				+							-			-		
						_					+			-		
СНЕ	MICAL	/ ACID [DATA:		Ī,					SUB TO	OTAL	1/940	0.0	0		
						SEF	RVICE & EQUIP	MENT	%TA	X ON \$						
					İ	MAT	TERIALS		%TA	X ON \$						
							F			TC	C	6,208	8	0		
2		1	n													

THE ABOVE MATERIAL AND SERVICE

ORDERED BY CUSTOMER AND RECEIVED BY:

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)



TREATMENT REPORT

Customer	<i>X</i>) <i>I</i>	1	v	Le	ase No.						Date					
Lease		1		W	ell#	8					1 .	11/10	110			
Field Order #	Station	P	7 7	6		Casing Depth					County State					
Type Job	B	160	- Sin					Fo	rmation			Le	gal Des	cription		
PIPE DATA PERFORATING DATA							FLUID USED					REATME	ENT RI	ESUME		
Casing Size	Tubing Siz					Acid										
 Depth	Depth	_		-		Pre	Pad	Max					-	5 Min.		
Volume	Volume	From		To		Pad	<u> </u>			Min			-	10 Min.		
Max Press	Max Press	From		То		Fra	c		Avg					15 Min.		
Well Connection	Annulus V	ol. From		То						HHP Used				Annulus f	ressure	
	Packer De			То		Flu	sh			Gas Volume			- 1	Total Load		
Customer Repr	 esentative	/			Station	Man	ager /			/-	Trea	ter	de			
Service Units	3890	7566	705	7-79	1655	'n	200000	T		7					1	
Driver Names	See 1	Da			Red		_				İ					
Time	Casing Pressure	Tubing Pressure	Bbl	s. Pum	ped		Rate					Service L	og			
W 30	riessuie	riessure				On time					, 5	Toly	250	2-1/-	m Park	
10 10								4	320)	45				Ĭ,	7 0 7	
11.70		25/				y D				11120	ý				la constant	
11.21		150		1/1			4	34	7 v	1 1105th 10140 TOO 168 May						
11 76		50	7	3.5			4	Shul Dr. Jecoment								
77.30		0		15				Sheet diene								
								.30	1891							
11.56		200					4	R	410	14/2	0					
11:38		150		5			0	-111	8/1	10058	3 %	0410	15	016	5 10115	
1.05		55		3.5			2.5	5	Jan 1	12	5, 10	18 ma	201			
12:10		8		f.d				5/	المراجعة	-4						
								1.	5/3	/						
T 10		. Yes					2.5	12	DAY	10	ox	5 6	0/8	016	0165 6411	
1 22		6		15				1	1111	Late	d_	2 5	-1/2	ce.	She de	
A Comment	1	_ <u>}</u>					,5:		5 1/2	52	love	_4	2	175		
150		300		5				2	14.1	20	SFS	20	1011			
V 107								2	-	cel	492	-544	1	April	102	
		2							204	- 4	4	40	Sac	luci		
2.70				5			1	20	Y.	20	SA.	5	0/9	00	- Hola	
7:75		0	_					5/		e Lya	r jand	To be	12	egope.	/c	
			_					-							- 	
											, b			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	672-5383	